Annex to Schedule 7

NHS FRAMEWORK AGREEMENT FOR THE SUPPLY OF GOODS AND THE PROVISION OF SERVICES Order Form

This Order Form is issued subject to the provisions of the Framework Agreement ref. NOEI.0552.0 entered into between NOE CPC and the Supplier on 01/09/2022 for the Provision of **Total Technology Solutions** (**"Framework Agreement"**).

The Supplier agrees to supply the Goods/Services specified below on, and subject to, the terms of this Contract and for the avoidance of doubt the Contract consists of the terms set out in this Order Form and the Contract terms, including the call off terms and conditions at Appendix A, together with the Schedules thereto.

Date of Order	21/04/2023	Order no.	REQ: 278891 Order no. to Follow Insight Legal Ref: 15303
			insignt Legal Rej. 15303

From:

Authority name	Sussex Partnership NHS Foundation Trust "Authority"			
Authority's address	Swandean Arundel Road Worthing West Sussex BN13 3EP			
Invoice Address	Shared Business Services, RW8 Payables 4695, PO BOX 312, Leeds, LS11 1HP			
Address for Notices to be given under the Contract	IT Dept - Northdown Building Sussex Partnership NHS Foundation Trust Trust HQ - Swandean Arundel Road, Worthing BN13 3EP			
Level 1 Authority Representative Contact Manager	Name: Mark Walker E-mail: mark.walker@spft.nhs.uk			

To:

Supplier	Insight Direct UK Limited "Supplier"		
Supplier's Address	The Technology Building, Insight Campus, Terry Street, Sheffield, S92BU		

Address for Notices to be given under	3 Hardman Street, 8 th Floor, Manchester, M3 3HF
the Contract	
Level 1 Supplier Representative	Name: Guy Beaudin
Contact Manager	E-mail: Guy.Beaudin@Insight.com

1. Service Requirements

	Description	Qty
	Aruba 8360-24XF2C v2 FB 3F 2AC Bdl	2
	Aruba 10G SFP+ LC SR 300m MMF XCVR	20
	Aruba 40G QSFP+ to QSFP+ 7m Active Optical Cable	2
	HPE X121 1G SFP RJ45 T Transceiver	10
	Aruba 6200F 48G CL4 4SFP+740W Swch	10
	Aruba 10G SFP+ LC SR 300m MMF XCVR	8
	Aruba 10G SFP+ to SFP+ 1m DAC Cable	6
	HPE X242 10G SFP+ to SFP+ 3m DAC Cable	2
	1GE SFP SX transceiver module for all systems with SFP	12
	and SFP/SFP+ slot	
	10GE SFP+ transceiver module, short range, for all	4
Short Description of Services	systems with SFP and SFP/SFP+ slots	
	22xGE RJ45 ports (inc. 2xWAN ports, 1xDMZ port, 1xMgmt port, 2xHA ports, 16xswitch ports with 4 SFP port shared media), 4 SFP ports, 2x10G SFP+ FortiLinks, dual power supplies redundancy. Max managed FortiAPs (Total / Tunnel) 128 / 64	2
	FortiGate-100F 3 Year FortiCare Premium Support	2
	Standard Qolcom 8x5 Service Desk and Support Contract - Aruba	1
	L3 Engineering - On Site	2
	L2 Engineering - On Site	1
	L2 Engineering - Remote	1
	L3 Engineering - Remote	4.5
	Project Admin	1
	Project Management	1
	Travel & Expenses	1
	Exclusive Networks - IN000 Installation, Single Day	4
	Fortinet	

Commencement date of services	01/05/2023
Duration or long-stop date	3 years
Service Levels required	As set out within the service level agreement will be supplied directly to the end user by Qolcom Limited
KPIs required As set out within the service level agreement will be supplied to the end user by Qolcom Limited	
Implementation	Implementation plan to be supplied by Qolcom Limited
Management Information	Yearly reporting
Contract Review Meetings	Yearly review
Processing of Personal Data	No
Lease or Licence Granted	n/a

2. Charges and Payment

Contract Charges payable by the Authority

Description	Qty	Price	Total Price
Aruba 8360-24XF2C v2 FB 3F 2AC Bdl	2	£9,736.96	£19,473.92
Aruba 10G SFP+ LC SR 300m MMF XCVR	20	£390.14	£7,802.80
Aruba 40G QSFP+ to QSFP+ 7m Active Optical Cable	2	£324.97	£649.94
HPE X121 1G SFP RJ45 T Transceiver	10	£106.58	£1,065.80
Aruba 6200F 48G CL4 4SFP+740W Swch	10	£3,204.13	£32,041.30
Aruba 10G SFP+ LC SR 300m MMF XCVR	8	£390.15	£3,121.20
Aruba 10G SFP+ to SFP+ 1m DAC Cable	6	£55.75	£334.50
HPE X242 10G SFP+ to SFP+ 3m DAC Cable	2	£78.57	£157.14
1GE SFP SX transceiver module for all systems with SFP and SFP/SFP+ slot	12	£50.55	£606.60
10GE SFP+ transceiver module, short range, for all systems with SFP and SFP/SFP+ slots	4	£121.06	£484.24
22xGE RJ45 ports (inc. 2xWAN ports, 1xDMZ port, 1xMgmt port, 2xHA ports, 16xswitch ports with 4 SFP port shared media), 4 SFP ports, 2x10G SFP+ FortiLinks, dual power supplies redundancy. Max managed FortiAPs (Total / Tunnel) 128 /64	2	£2,012.93	£4,025.86
FortiGate-100F 3 Year FortiCare Premium Support	2	£1,690.72	£3,381.44
Standard Qolcom 8x5 Service Desk and Support Contract - Aruba	1	£10,868.46	£10,868.46
L3 Engineering - On Site	2	£850.00	£1,700.00
L2 Engineering - On Site	1	£650.00	£650.00
L2 Engineering - Remote	1	£600.00	£600.00
L3 Engineering - Remote	4.5	£800.00	£3,600.00
Project Admin	1	£500.00	£500.00
Project Management	1	£850.00	£850.00

Travel & Expenses		1	£100.00	£100.00
Exclusive Networks - IN000 Installation, Single Day Fortinet		4	£1,100.00	£4,400.00
Project Management		1	£850.00	£850.00
Total				£97,263.20
Excluding VAT				
Payment Milestones – payment in full on Invoicing	receipt of invoice × Electronic ☐ Electronic and Consolide ☐ Other, detail below	ated		

3. TUPE

TUPE at commencement	N/A
TUPE at exit and/or termination	N/A

4. Formation of Contract

The Supplier shall enter into the Contract by returning a signed copy of this Order form (Order form for the [Guidance Note: Insert Framework Title]) to the Authority.

The Contract shall be formed when the Authority acknowledges receipt of the signed copy of this Order Form (Order form for the [Guidance Note: Insert Framework Title]) to the Authority.

For and on behalf of the Supplier:

Signature	Steauch
Name and	guy beaudin
Title	Public Sector Business Development Director
Date	[Oct/13,12/023y]

For and on behalf of the Authority:

Signature	O2e_
Name and Title	Paul Colbran - Deputy CDIO
Date	[08/06/1923]

Not Applicable



15303 - Order Form - Sussex Partnership NHS Foundation Trust - Qolcom Limited - Customer signed

Final Audit Report 2023-10-03

Created: 2023-10-02

By: simon harrison (simon.harrison@insight.com)

Status: Signed

Transaction ID: CBJCHBCAABAANeAVUtG4VuKMUL40lioq9YbqHFdLQ_Mb

"15303 - Order Form - Sussex Partnership NHS Foundation Tru st - Qolcom Limited - Customer signed" History

- Document created by simon harrison (simon.harrison@insight.com) 2023-10-02 11:30:39 AM GMT
- Document emailed to guy beaudin (guy.beaudin@insight.com) for signature 2023-10-02 11:32:23 AM GMT
- Email viewed by guy beaudin (guy.beaudin@insight.com) 2023-10-03 6:51:14 AM GMT
- Document e-signed by guy beaudin (guy.beaudin@insight.com)
 Signature Date: 2023-10-03 6:51:54 AM GMT Time Source: server
- Agreement completed.
 2023-10-03 6:51:54 AM GMT